
www.royalgourmetcorp.com

hotline
service@royalgourmetusa.com

Model: MG3000

Mirage 3-Burner Gas Grill



4

16

3

7

1

10

8

6

5

14

11

13

12

2

9

15

16

17 18

19

20

23

4

24

25

27

21

22

26

7



G H I 8pcs

A B CM5X10 47pcs M6X12 18pcs 1pc

1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

17 18 19 20

21 22 23 24

25  

Warming rack right 1pc

26 27

D E F

K

4pcsM5X60 1pc 2pcs

M4X8 4pcs 1pc M6X10 4pcs

AA battery Magnet

Door screw M6X34.5

Caster              4pcs Bottom shelf        1pc Side shelf right       1pc Side shelf left        1pc

Cart front beam       1pc Firebox brace       2pcs

Handle base        2pcsDoor handle         1pc

 Door                    1pc

Grease cup base   1pc Grease cup          1pc

Grease tray           1pc Thermal baffle     1pc Side table            2pc

 Flame tamer         3pcs  Cooking grate        2pcs

Thermometer        1pc Tank base lower    1pc

Tank base upper    1pc   Grill rotisserie base  2pcs

Rear shelf            1pc
W-52930001

Z-M61A6317

Z-M61A6325

Z-20130060

 Extension wire      1pc

W-GD430013

 Handle bracket     2pcs

W-M61A6310

 Lid Handle              1pc

Z-M61A6321

Z-M61A6332 Z-M61A6331

Z-A3127-RGC

Z-A3128-RGC

Z-M61A6316

Z-M61A6336

W-M61A6301W-M61A6322

Z-DXL12047

Firebox               1pc

W-M61A6309 
W-M61A6303

H-M61A6304

H-M61A6302 ZH-M61A628

W-A0403

Z-M61A6326 Z-M61A6322

W-52930005

W-20130049

ZH-M61A634

 Rear board            1pc





Assemble the rear shelf (5) to side shelves and

2

A

1

3

B
4

5 AB

G

E



9 10
8

6

7

11
3

A

7

6

D

H

8

9

B

10

the 2
1

F

1

A

11

Please note : make the bolts (D) insert throngh the 
firebox braces.

via H



12 13 .

Assemble handle brackets (21) to lid with 4 bolts (A). Insert the lid handle (22) to handle brackets, 
secure them from inside of the lid with 2 bolts (B).

12

13

A

21

15

B

22



13 14

15 16

10

14

16

15

14

G

15

A I

16

I

16

I

16



17 18

19 20

4

11

K

A
17

18

19

17

4

2 s

18 19



21 22

23 24

12

20

23

C

B

25 24

20warming rack 23

Install tank base upper (25) to the bottom shelf

24



25 26

27

26

A

27

26

Assemble the grill rotisserie bases (27) to the firebox
Recommended length for the grill rotisserie is 28".
Grill rotisserie is not included.

13


